#iproperty copyright “Copyright 2020, Zyuna32246”
#property link “http://zyuna32246. livedoor. blog/”
#iproperty version  “1.00”

#property strict

/]85 A— R —5E

sinput int MagicNumber=2020; //

/Yy I F T A—
input int Slippage=10; J/AY y RX—Y
input double Lots=0.01; //a sy E
input int TakeProfit=100; //FIHENR (pips)
input int StopLoss=50; //48Y)IE (pips
input int TrailingPips=20; //hL—Y 7 A by 7 (pips)
/= v — R —RE
input int Periodl=5; / /AR
input int Period2=25; / /3 [H] 2
input int Period3=75; //BAR3
/)70 7 7 AW BT A
double Pips;
int SLP;
//
int Onlnit () { //EAENFE I —E R U 7 el 5 A

Pips=AdjustPoint ( Symbol) ;
SLP=(int)AdjustSlippage ( Symbol, Slippage) ;

return (INIT SUCCEEDED) ;

//
void OnTick() { //T 4y 0% ETBECHL T 0s 5 A

//hL—U T ANy T
TrailingStop();

[/RY Y a B AR
int BuyPosition=Position (1) ;
int SellPosition=Position(-1);

// T by —HE
int Entry=PerfectOrder () ;
if (BuyPosition==0 && Entry==1)0penOrder (1) ;
if(SellPosition==0 && Entry==-1)0OpenOrder (-1);

/)7 a—XHE
if (BuyPosition!=0 && PerfectClose(1)==1)CloseOrder (1) ;
if(SellPosition!=0 && PerfectClose(-1)==-1)CloseOrder(-1);

}//0nTick
//
void OnDeinit (const int reason) { //EABIRIRF I e fg e @< 7' n 7 5 A

}

//

eI R L
BN ki
double AdjustPoint(string Currency) {
int SymbolDigits=(int)MarketInfo(Currency, MODE DIGITS) ;
double CalculatedPoint=0.0;
if (SymbolDigits==2 || SymbolDigits==3) {
CalculatedPoint=0.01;
Jelse
if (SymbolDigits==4 || SymbolDigits==5) {
CalculatedPoint=0. 0001;

return(CalculatedPoint) ;

}

[/A) y X—
double AdjustSlippage(string Currency, int SlippagePips) {
double CalculatedSlippage=0.0;
int SymbolDigits=(int)MarketInfo(Currency, MODE DIGITS) ;
if (SymbolDigits==2 || SymbolDigits==3) {
CalculatedSlippage=SlippagePips;
Jelse
if (SymbolDigits==4 || SymbolDigits==5) {
CalculatedSlippage=SlippagePips*10;

return(CalculatedSlippage) ;

}

WP EPS &2
int Position(int PositionDirection) {
int res=0;
for (int i=0;i<OrdersTotal () ;i++) {
if (OrderSelect (i, SELECT BY POS, MODE TRADES)==true) {
if (OrderSymbol ()== Symbol && OrderMagicNumber () ==MagicNumber) {
if (PositionDirection==1) {
if (OrderType ()==0P BUY)res++;
Jelse
if (PositionDirection==-1) {
\ if (OrderType ()==0P SELL)res++;

}
}

return (res) ;

J/F vy aryoy b ) —HH

void OpenOrder (int EntryPosition) {
int res=0;
double TP=TakeProfit*Pips;
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double SL=StopLoss*Pips;

if (EntryPosition==1) {

} res=0rderSend (_Symbol, OP_BUY, Lots, Ask, SLP, Ask=SL, Ask+TP, NULL, MagicNumber, 0, clrBlue) ;

else

if (EntryPosition==-1) {

| res=0rderSend ( Symbol, OP SELL, Lots, Bid, SLP, Bid+SL, Bid-TP, NULL, MagicNumber, 0, c1rRed) ;
}

/Ry gy o —X
void CloseOrder (int ClosePosition) {
int res=0;
for (int i=OrdersTotal ()=1;i>=0;i—) {
if (OrderSelect (i, SELECT_BY_POS, MODE_TRADES)==true) {
if (OrderSymbol ()== Symbol && OrderMagicNumber () ==MagicNumber) {
if (OrderType ()==0P BUY && ClosePosition==1) {
\ res=0OrderClose (OrderTicket (), OrderLots (), OrderClosePrice(), SLP, clrMagenta) ;
else
if (OrderType ()==0P SELL && ClosePosition==-1) {
res=0rderClose (OrderTicket (), OrderLots (), OrderClosePrice (), SLP, clrMagenta) ;

}
}
}
}

//hL—U YT Ay T
void TrailingStop() {
double TSP;
int res=0;
for (int i=OrdersTotal ()=1;i>=0;i—) {
if (OrderSelect (i, SELECT_BY_POS, MODE_TRADES) ==true) {
if (OrderSymbol ()== Symbol && OrderMagicNumber () ==MagicNumber) {
if (OrderType ()==0P BUY) {
TSP=Ask-TrailingPips*Pips;
if (OrderOpenPrice () <TSP && OrderStopLoss () <TSP) {
res=0rderModify (OrderTicket (), OrderOpenPrice (), TSP, 0, 0, clrYellow) ;

Jelse
if (OrderType ()==0P_SELL) {
TSP=Bid+TrailingPips*Pips;
if (OrderOpenPrice () >TSP && OrderStopLoss () >TSP) {
res=0rderModify (OrderTicket (), OrderOpenPrice (), TSP, 0, 0, clrYellow) ;

}
}
}
}
}

[/N—=7 27 NF—=K—x> pY)—

int PerfectOrder () {
int entry=0;
double MA1=iMA( Symbol, 0, Periodl, 0, MODE SMA, PRICE CLOSE, 1) ;
double MA2=iMA (_Symbol, 0, Period2, 0, MODE_SMA, PRICE _CLOSE, 1) ;
double MA3=iMA ( Symbol, 0, Period3, 0, MODE SMA, PRICE CLOSE, 1) ;

if (MA3<MA2 && MA2<MA1)entry=1;
if (MA3>MAZ && MA2>MAL) entry=-1;

return(entry) ;

}

[/NN—T7 27 A=K —a—X

int PerfectClose(int Position) {
int close=0;
double MA1=iMA (_Symbol, 0, Periodl, 0, MODE_SMA, PRICE _CLOSE, 1) ;
double MA2=iMA ( Symbol, 0, Period2, 0, MODE SMA, PRICE CLOSE, 1) ;
double MA3=iMA (_Symbol, 0, Period3, 0, MODE_SMA, PRICE _CLOSE, 1) ;

if (Position==1) {

i (MASYMAZ2 || MA2>MAL) close=1;
}else
if (Position==-1) {

if (MA3<MA2 || MA2<MAL)close=—1;

return(close) ;
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